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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions. Answers are
to be given on the separate answer-sheet.

1.  Please write your Centre Code and Seat No. very clearly (only one digit in one block).
Before writing your Seat No. get it ascertaine from the Centre Conductor. Please see that
no block is left unfilled and even zeros appearing in the Centre Code and Seat No. are
correctly transferred to the appropriate blocks on the booklet and on the answer sheet.
Example :

CENTRE CODE &= d%di®

SEAT NO. 3w w6
For all subsequent purposes your Centre Code and Seat No. shall remain the same. Centre
once alloted will not be changed

2. All questions carry one mark each.

3. Since all questions are compulsory do not try to read through the whole question paper
before beginning to answer it.

4.  Begin with the first question and keep on trying one question after another till you finish.

5. If you do not know the answer to any question, do not spend much time on it and pass
on to the next one. Time permitting you can come back to the questions which you have
left in the first instance and try them again.

6. Since the time alloted is very short you should make best use of it.

7.  Remember you have to mark on your answers in “Scholastic Aptitude Test” answer-
sheet only.

8.  Answer to each question is to be indicated in the answer-sheet by encircling with black
pen provided to you in the appropriate number of alternative in the answer-sheet from
amongst the ones given for the corresponding question in the test booklet.

9. Do not write anything except Centre Code, Seat No. and rough work anywhere in this
booklet.

10. Now turn to the next page and start answering the questions.
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| ST §TAAT ==t |

Jaer genemet & ded H e faue e H# @ s § 9
(1) 9T 9o BT TH FAL BT MBI BT £ |

(2) GFHT IA T TH - W B Jaestsd "8 Hat |
(3) G I WC TH - g B T Ihodl & |
(4) Swh o WAT ZAAT I g A SRIOT g a S § |

mafad 0T @ qRatqa ©RROT & S T Hior 90° HT E AT IMYAFROr (1) T rEd" BT (1) &
A foHaa g ©

(1)i=45, r=090°

2)i=90°, r=090°

3)i=90°, =45

(4)i=45, =45

o & @ A P qOHE & AT & fTT IUERT H OAE A S 2
(1) Fer&r (Cal)

(2) diewsm (°C)

(3) w¥EEe (°F)

(4) F= (K)

1.5 V favaiaeare 4 [eaadt & dedf & @ed | ST 0T af 36 ded P [aHaiay ... g ?
(1) 1.5V 2) 45V

(3) 5.5V (4) 6.0 V

(1) #ex (m)
(2) &fex ()
(3) &w (Hz)
(4) F (Cal)
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[ SCHOLASTIC APTITUDE TEST]

Which of the following statement is incorrect with respect to magnetic lines of force ?

(1) Magnetic lines of force attracts each other.
(2) Magnetic lines of force does not intercepts each other.
(3) Magnetic lines of force repels each other.

(4) Magnetic lines of force starts from north Pole and ends South Pole.

If the angle between the incident ray and the reflected ray is 90°, what are the values of
the angle of incidence and angle of reflection ?

(1)i=45°, r=90°

2)i=90°, r=090°

3)i=90°, r=45

(4)1=45°, r=45

Which of the following unit is not used for measuring temperature ?
(1) Calorie (Cal)

(2) Celsius (°C)

(3) Fahrenheit (°F)

(4) Kelvin (K)

4 electic cells of potential difference 1.5 V each have been connected as a battery. What
will be the potential difference of battary ?

() 15V (2) 45V
3)55V (4) 6.0V
The frequency of sound waves is measured in ......... unit.

(1) meter (m)
(2) litre (I)
(3) Hertz (Hz)

(4) Calorie (Cal)
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6. TTAUR T FT MIATHR THST W AT & oot AR 98 N & | The & IMeam &t darg 0.5 e
T g 0.2 HieX & a 9t THYT SqAUR fhaaT I YHE BT 9

(1) 980 Pa (2) 98 Pa
(3) 9.8 Pa (4) 0.98 Pa

7. WHE H W NI W HAA B ¢ FEHE, e, AT, AT
(1) F=om= (2) =g
(3) &= (4) =
8. UF WA 5 ¥Hg # 1000 a” S grar & | aF 39F SN HiHa garet @l #t e et gnfr ¢
(1) 5000 Hz
(2) 500 Hz
(3) 200 Hz
(4) 2000 Hz
9. Ul H STl T a¥g IR q%dr @ o fF -

(1) STATaF o, oA TA B UL ATIF FHar 2 |
(2) STATTF TA, TEA TA B JULT FH & 2 |
(3) SeATaE I T [EAT A FHF EaT 2 |

(4) TR IaATTF I B A& BT |

10, FS ....... ST T G T 2
(1) 1 Hz & 20,000 Hz
(2) 20 Hz & 20,000 Hz
(3) 1 Hz & 2,000 Hz

(4) 20 Hz & 2,000 Hz
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6. A metal block of weight 98 N is placed on table. The bottom length of block is 0.5 m
and width 0.2 m. Find the pressure exerted by block on the table ?

(1) 980 Pa (2) 98 Pa
(3) 9.8 Pa (4) 0.98 Pa

7. Choose the incorrect quantity from the following group Mass, Length, Time, Speed.
(1) Mass (2) Length
(3) Time (4) Speed
8. A tunning fork vibrates 1000 times in 5 second, then find the frequency of sound
produced by it ?
(1) 5000 Hz
(2) 500 Hz
(3) 200 Hz
(4) 2000 Hz

9.  The object floats on water because -
(1) Buoyant force exceeds the gravitational force
(2) Buoyant force is less than the gravitational force
(3) Buoyant force and gravitational force are equal

(4) Gravitational force is not acting on object

10. ... frequency of sound can heard by human.
(1) 1 Hz to 20,000 Hz
(2) 20 Hz to 20,000 Hz
(3) 1 Hz to 2,000 Hz

(4) 20 Hz to 2,000 Hz

11. In centre of sun ........ acts as a fuel.
(1) Hydrogen (2) Helium
(3) Oxygen (4) Nitrogen
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12. T # @ F=91 e q9q7 8 7

(1) s (2) T
(3) wIHIet (4) Fewtwrdt
13. 59 30T a9 & fawwAnr fsmor &6t o Fed £ |
(1) =i (2) forera
(3) Fetam (4) wfisr

14. CaCO, +2HCl-> A+B+C
IW S g rtafeI A, B @ C gg=iHT |

(1) CaCl, +CO, +H,0
(2) CaCl, +2CO, +2H,0
(3) CaCl, + 2 CO, + H,0
(4) CaCl, + CO, +2H,0
15. 3moq iR # T SHi9Er e 1oq IraRe T YT ww@r & 2
(1) RNA (2) DNA
(3) HCI (4) H,S0,

16. = \AYHITH AT & G a1 T TR HIAHT & D & AT ATHRRIT THT ..o SRR
g 2 |

(1) CO, 7wt
(2) CO, T H,
(3) CO, 7 ATz
4) HS 7 ot
17. T & @ 3T difte waar g 2
(1) e (2) FIR Fehe (rematem)
(3) ghwm (4) FY2
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12.  Which is the complex compound among the following substances ?

(1) Sugar (2) Common salt
(3) Glucose (4) Haemoglobin

13. Heterogeneous mixture of a liquid and a solid is called a ......... .

(1) Colloid (2) Solution
(3) Suspension (4) Alloy

14. CaCO, +2HClI > A+B+C
Identify A, B & C in above reaction.
(1) CaCl, + CO, + H,O
(2) CaCl, +2CO, +2H,0
(3) CaCl, +2CO, + H,0
(4) CaCl, + CO, +2H,0
15. Name the acid that decides the heredity property in our body.
(1) RNA (2) DNA
(3) HCI (4) H,S0,

16. During the process of respiration glucose in the cells reacts with oxygen to form

(1) CO, and water
(2) CO, and H,
(3) CO, and nitrogen
(4) H,S and water

17. Which is the inorganic compound among the following ?
(1) Sugar (2) Blue vitriol
(3) Urea (4) Camphor
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18. TwHIOIWEN siwan twirar fFeifa s & e e § § S99 a9 maeTs 8 ?
(1) wiE= @ I T 9 T rET |

(2) S FHT AT T AT FA FET EA

(3) STTHT AT TET 3T T FH FHAT |

4) 57 fow # & T o T |

19. ‘L’ 39 Fa9 #1 gorel ot Reat @t ¥ 9
(1) 2 )8
(3) 18 (4) 6
20. ST # HrAET A v ¥ 9
(1) Fafes e
(2) eefw srd
(3) sffRiteT® 3T
(4) ATrs v

21, THMEEE IEHT F IAATEIE AASTAN F BROT HA F AT H e, Fr AT TEA 2 |
(1) s (2) 3t
(3) e (4) writ
22, FET W Yotads TR & FMiEEsT Iumrd frad guredl guwentte & 3T w2
(1) Tfram - 235 (2) FremeE - 60
(3) smEifeT - 131 (4) P - 14
23. TAREiqEiEd 9 F fAaw .. TSk HI ITTILIHAT Bl 2 |
(1) Bgiee
(2) TR
(3) Amagis
(4) wite#
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18. In the nuclear reactor to control the chain reaction, it is necessary to ........ .

(1) Increase the speed and number of protons.
(2) Decrease the speed and number of neutrons.
(3) Increase the speed of neutrons and decrease its number.

(4) None of the above.

19. The maximum capacity of ‘L’ shell is ........ electrons.
(D)2 ) 8
(3) 18 4) 6

20. Name the acid present in tomato.
(1) Citric acid
(2) Tartaric acid
(3) Oxalic acid

(4) Lactic acid

21. Due to excessive use of chemical Fertilisers the ........ of soil increases.
(1) basicity (2) acidity
(3) salt (4) None of these

22. Which among the following radioactive isotopes is used in treatment of cancer

disease ?

(1) Uranium - 235 (2) Cobalt - 60

(3) lIodine - 131 (4) Carbon - 14
23. For growth of plants ........ is essential.

(1) Hydrogen
(2) Oxygen
(3) Nitrogen

(4) Sodium
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24.

25.

26.

27.

28.

29.

30.

I e YgATHT |

(1) ey (2) TrRER
(3) == (4) witTHR
I I TEEATAT |

(1) st (2) Fa%

(3) straroy (4) e

FA F Fled & qF WIST AT F TH ... o # fomg 39 2 |
(1) 90 & 175 (2) 90 & 120
(3) 90 & 150 (4) 90 & 110
Smitass / o @ B HI AAET ST 2 |

(1) 14 37 (2) 29 Tadsr
(3) 7 st (4) 14 Fa==

UTHdH T IGIIT BT HROT HAAT & 2
(1) Tramtt g=t @1 dgfa o

(2) TSt FT e

(3) @ e R

(4) TE IR RECTOMATHT &1 T

(1) 12,500 & 14,500
(2) 12,000 & 14,000
(3) 12,400 & 14,000
(4) 12,200 & 14,200

(1) 5 - 100 #rpriex 2) 1 - 10 wrEsFEeT
(3) 5 - 100 frfex @) 1 - 10 g
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24. Find odd word from given group.
(1) Coecus (2) Tarafdar

(3) Bacillus (4) Spiral

25. Find odd word from given group.

(1) Protozoa (2) Fungui
(3) Bacteria (4) Algae
26. After dog bite symptoms of Rabbies appear within ......... days.
(1) 90 to 175 (2) 90 to 120
(3) 90 to 150 (4) 90 to 110

27. World health day is observed on .........
(1) 14" June (2) 29™ September
(3) 7™ April (4) 14" November
28. Which of the following is natural cause of water Pollution ?
(1) Waste water from Residential area.
(2) Erosion of soil.
(3) leakage of mineral oil

(4) use of insecticides and fertilizers.

29. Average annual occurence of earthquake is ......... .
(1) 12,500 - 14,500
(2) 12,000 - 14,000
(3) 12,400 - 14,000
(4) 12,200 - 14,200
30. Size of Prokaryotic cell is ....... :
(1) 5 - 100 micrometre (2) 1 - 10 micrometre

(3) 5 - 100 nanometre (4) 1 - 10 nenometre
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31. ERa@a®T F & T AHAH F ATABES TE T IEATT |

R

(1) A (2) B
3)C 4 D

32. WG RAT AS F EST ¥ U AT WA B E
(1) 72 ) 75
3) 71 (4) 70

33, WHE # ¥ IR F YEAIAT |

(1) T (2) sretfera

(3) Frufetia (4) Ffeeras
34. TOTHER BT AGARIY ....... * fog givs 2 |

(1) 9= (2) 2= A

(3) wiry (4) Tz

35. 9EAT WRI Bl o......... TE gAMd 2 |
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31. Identify ‘Thylakoid’ from given diagram of Chloroplasts.

(1) A (2) B

3)C (4) D

32. Human heart pushes ......... ml. of blood in one beat.
(1) 72 (2) 75
(3) 71 4) 70

33. Find odd word from given group.
(1) Urea (2) Ammonia
(3) Creatinin (4) Calcium

34. Ranthambhor Sanctuary is Famous for ....... .

(1) Lion (2) Tiger
(3) hynae (4) deer
35. ... Plant is found in grassland region.
(1) Teak (2) Kusali
(3) Deodar (4) Sandal wood
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36.

37.

38.

39.

40.

TR JeATHT W&l %A ST fawed g+ |

(37) 9w BT FHATA (@) wdt wirdes F
() 3 - WET Ig f5d @ wA  (3) WIAETE P wHeian
[EEaa]

(), % 9,2 Q) T, %, g, o
B)s, o7, F, 4 =, 35, 9, A7

1857 % Tagiz & ontfHer AT 31T 398 ATAT &T sufgar A1 fgdft & | 399 € TodAq sEr
TEATAT |

(1) Hreere - fewmams

(2) TS - SR @

(3) FTHAT (FEAFHR) - AETISI ATSH

(4) | afvew - @ argst

THYYR IMEAF & HROT OTHd 4T § AT F ... Tl P FEA W g3 |
(1) afrs e oi st Frefer

(2) T 3T gREwEOTT

(3) TS 3 Afor

(4) TTIEET I AT

1w 1960 & Frg wsw F frafor gam ¢

(1) e (2) FATew

(3) srieraar (4) e

Aftert & T fratad gt w ahgT BHE TS % ST AT ft |
(1) #ict et g (2) A T

(3) TMER T (4) qo1 T
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36.

37.

38.

39.

40.

Select the correct chronological order from the given below ;
(A) Treaty of Vasai

(B) Sati Prohibition Act.

(C) Second Anglo - Maratha war come to an end

(D) Treaty of Salbai

Options :
(HA,C B, D 2)B,C, D, A
(3)D, A, C, B 4) C, D, B, A

Given below are the names of leaders participated in Struggle of 1857 and their respective
places. Identify the wrong pair.

(1) Kolhapur — Chimasaheb
(2) Nargund — Balasaheb Bhave
(3) Sangamner [Ahmednagar] — Bhagoji Naik

(4) Satpura region — Rango Bapuji

Due to Religious Reform movement, human ........ gained more importance.
(1) Scientific attitude and rationalism

(2) Freedom and rationalism

(3) Astronomy and Mathematics

(4) Sculpture and Architecture

Which was the state that formed on 1% May 1960 ?

(1) Goa (2) Karnataka

(3) Andhra Pradesh (4) Maharashtra

According to ........ pact, the Indian National Congress agreed to seperate electorates to
Muslims.

(1) Morley — Minto Act (2) Lucknow Pact

(3) Lahor Pact (4) Pune Pact
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41. “TTS T THF T F A ST T S qEA W TH-UF B 3Dt o @ ¢ |7 T8 faure fwew

FET 7
(1) 9. STaTEed 48% (2) FqsATT TETT
(3) AT e (4) ST AT

42, o7 # feomo ™ Rt @1 A faRag |

(1) woaar ermsret (2) SFT IRST
(3) Tt g (4) st 8

43. TIAT TS [t FI BT dBHIA & WIS HIadid & HIT T FA 7 THR & A6 § 7 BT W
g1 ¢

(1) oret &=
DEER
(3) R |t
(4) strgmms @
44, TrAfaREd § ¥ BAY TAERIT B JRATE . TEERT AESHT F T& fHA |
(1) S=ar
(2) g¥Har

(3) wHud

(4) FHAIE
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41. Who said following sentence; “Every blow on my body will prove a nail in the coffin of
the British Empire.”

(1) Pandit Jawaharlal Nehru (2) Rabindranath Tagore
(3) Mahatma Gandhi (4) Lala Lajpat Rai

42. Identify the person in given picture.

(1) Mallappa Dhanshetti (2) Shrikrishna Sarda

(3) Qurban Hussain (4) Jagannath Shinde

43. Which group of Bhai Kotwal in Karjat taluka of present Raigad District made the gov-

ernment helpless and witless ?

(1) Lal Sena
(2) Abhinav Bharat
(3) Anushilan Samiti

(4) Azad Dasta

44. Which of the following news paper was not started by Dr. Babasaheb Ambedkar ?

(1) Janata
(2) Samata
(3) Kesari

(4) Muknayak
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45. 10 57 1890 ¥ s#I®I H TAAR &I Walled Fal HaAT IRW g3 | FrAfaraa # & $F & qa=
st gamT fRaT 9

(1) diors smqa i (2) TR e
(3) At A, ST (4) AR AT TGS
46. TSR F FTE T T FACT F TN JUCTIST B FH FH F AT ..o ot Tt fpar T |
(1) et gor e (2) TR
(3) SIS AR (4) TS W FtEd

47. =TT T T F F@EE B E W G FIM AT 9

(1) W (2) emrm

(3) demaT (4) ==y
48, Frefiam # @ Tew WS TR

(1) Pt Tt - e

(2) ST w - S

(3) =TS A -

49. TAEAE F TAA FHIX ......... 7 gIAET W A fHa |
(1) wEREET= ST (2) g9 31l
(3) WhaE s IrsgAr (4) Feie=
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45. Due to whose efforts, workers started getting weekly holiday on Sunday ?

(1) Shripad Amrut Dange (2) Muzaffar Ahmed
(3) N. M. Joshi (4) Narayan Meghaji Lokhande
46. ........ Dal was founded to liberate Portuguese colonies of Dadra and Nagar Haveli
in Gujarat.
(1) Gujarat Youth League (2) Razakar
(3) Azad Gomantak (4) Gujarat Congress Committee

47. Identify the place of satyagraha given in picture below ;

(1) Solapur (2) Dharasana
(3) Peshawar (4) Dandi
48. Identify the wrong pair.
(1) Niraji Rawaji — Nyayadhish
(2) Annaji Datto — Sachive
(3) Dattaji Waknis — Mantri
(4) Ramchandra Dabir — Sumant

49. The Mughal Subhedar ....... of Allahabad attacked Bundelkhand.

(1) Mohammad Khan Bangush (2) Hussain Ali

(3) Sayyad Bandu Abdulla (4) Nazib Khan
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50. fo=fafed # & @ JISE ggaE |
(1) T=Ts F - FHATSIME
(2) Ty it - pIamE
(3) TR F - I
(4) sEASTR F - TeTETEr
51. 3remef omee goTGlt H HEGNE TS T Ear § 9

(1) STt (2) et

(3) e (4) ABEAT THA
50, FRRTEE W AT B o THE A A R o R

(1) irepwr (2) T

(3) ferem wfws (4) e

53. WA ... TE TN F IS A B 2 |

(1) T (2) IRt

(3) wermE (4) T =t
54, wERg & fqumer & $d g5 e g ® 2

(1) 250 (2) 288

(3) 78 (4) 60

55. frfafed & & S 390 #1 diaae qofa: falea @@ & 9

(1) et (2) e

(3) gtz (4) e
56. . Y AoAa: g7 whlesl ¥ o d 2 |

(1) wew (2) Fo

(3) ¥t Wew (4) TgHeTH
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50. Identify the wrong pair.
(1) Varhad — Imadshahi
(2) Bidar — Qutubshahi
(3) Bijapur — Adilshahi
(4) Ahmadnagar — Nizamshahi
51. Who is the excecutive head of the presidential system of government ?
(1) Governor (2) Prime Minister
(3) President (4) Loksabha Speaker

52. Bills related to taxes should be introduced in ......... .

(1) Lok Sabha (2) Rajya Sabha
(3) Vidhan Parishad (4) Courts
53, . is the ex-officio chairman of Rajya Sabha.
(1) President (2) Vice-President
(3) Prime Minister (4) Chief-justice
54. There are ........ members in the vidhan sabha (Legislative Assembly) of Maharashtra.
(1) 250 (2) 288
(3) 78 (4) 60
55. Constitution of ........ nation is unwritten Constitution.
(1) America (2) India
(3) England (4) Russia
56. ... clouds are mainly made up of ice particles.
(1) Stratus (2) Cirrus
(3) Alto stratus (4) Cumulus
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57.

58.

59.

60.

61.

62.

WA # WAL B A ¥ & # A Tgad B A S5 g AW A & 2
(1) =g (2) woTsH
(3) HrAHAT (4) 9=

AL AAF TAT & AAN ARG # Fag 8 aof g, af JAraa & fha+ o=t v ?
(1) 37ez 1 st 30 fafe
(2) gtuex 2 sty 30 fafae

(3) Fwtese 2 wstY 30 fafae

(4) TP 1w 30 fafwe

frfafea & @ g2t & ofad & B9 9ET F 3fwa Aerg 30 ¥ 35 T A S o
(1) o= (2) Hew (JTEW)
(3) e () (4) I qUea
AT o BT & AEEER | 2 2

(1) Srates (2) Te=t

(3) 3fgrr sreaifes (4) T readiies
frfafea & & od Sier Jear |

(1) wpfc =eF « 7T

(2) T Te ;o

(3) ot wes : wWhie duaT

(4) TTHE TTF : qH

AT AT AT e gHlg H T Sm 9
(1) o wfad a=HeT

(2) star Afemard

(3) ez

(4) THetTeR
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57.

38.

59.

60.

6l.

62.

For survey purpose in India, the height of the sea level at ........ is considered to be zero.
(1) Mumbai (2) Panaji
(3) Kolkata (4) Chennai

As per the Universal Standard Time if it is 8 a.m. in the India, then what time it would

be at Greenwich ?
(1) 1.30 p.m.
(2) 2.30 p.m.
(3) 2.30 a.m.

(4) 1.30 a.m.

From the above options, which layer of the interior of the earth is 30 to 35 km
thick ?

(1) Crust (2) Mantle

(3) Core (4) Oceanic Crust

In which Ocean the Somali current flow ?

(1) Pacific (2) Hindi

(3) Southern Atlantic (4) Northern Atlantic
Identify the odd pair from the options given below.

(1) Physical factor — Soil

(2) Social factor — Religion

(3) Economic factor — Mineral Resources

(4) Political factor — Wars

Generally humidity of the air is measured in ..........
(1) Gram per cubic meter

(2) degree Celcius

(3) Meter

(4) Milimeter
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63. HETH ... FT GAOT AE B F AIT IS a4l 2 |
(1) we (2) B
(3) sHTee (4) F=

64. g F AW TR HAG qEET F BA E 2
(1) Trore fawm
(2) ferem fawmr
(3) smirg feawmr
(4) zure Tawmr

65. Trfaiaa & & @19 @ fawed dgzaT FE 2

(1) e *1 T (2) B
(3) @itE - gwm (4) S 3T
66. JATT F THE FW - AW I IJMHRT H IW J@T & T - T AR TWE ..o gl 2 |
(1) = 2) =t
(3) i<t (4) fer

67. WE SfeAr fEEHaTen awe 97 |

3 T T e
(1) smrtr 5 (37) IUAT AT
(2) FETEI A (¥) THAA W
(3) HeETEUT ' (F) TET AW
(4) Tmrimr fagigor () T T

(1) 13, 2-31, 3-8, 4-%
(2) 1-31, 2-9, 3-%, 4-8
3) 1-g, 2-%, 3-9, 4-31

(4) 1-9, 2-%, 3-g, 4-31
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63. If the proportion of ........ in the soil is greater, the soil become fertile.
(1) Granite (2) Humus
(3) Besalt (4) Niece
64. Which department maintains all information about the land ?
(1) Revenue Department
(2) Education Department
(3) Health Department

(4) Postal Department

65. From the above options which option come under small industry ?
(1) Jaggery Making (2) Bakery
(3) Iron and steel (4) Sugar industry

66. As soon as the sun starts moving up in the sky after sunrise, the length of our

shadow ....... :
(1) moves in upward direction (2) increases
(3) reduces (4) remains same

67. Match the correct pairs and Identify the correct option.

‘A’ group ‘B’ group
(1) Abyssal Plain (A) Shallowest part
(2) Continental shelf (B) Flat part
(3) Continental slop (C) deep part
(4) Marine Deposition (D) Steep slop
Options :

(D1 -B,2-A,3-D,4-C
2)1-A,2-B,3-C,4-D
3)1-D,2-C,3-B,4-A

41-B,2-C,3-D,4-A
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68. = 4T T e HT IS T WER TF F AW — 2011 F oW s aared |

9900 ; . )
R <
‘ .

fera=h =
38888883538
R

(1) 1084
(2) 929
(3) 879
(4) 918

69. TSI .......... ghe F AT S R

(4) Taferrs

70. ST e & e e S gt e e T

(31 (3m) &) ©)
(1) () (2) (3m

3) @ ) ®
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68. Study the graph of sex ratio of states in India in the year 2011 and find the sex ratio
of Bihar.

9900 . e
9000 T

f?ﬂ'ﬁﬂ\ HJ&ET
EEEREE
-
4 IETEE

TE

}
b
)

ﬂ§
;

-
:

- ISR

(1) 1084
(2) 929
(3) 879
(4) 918
69. Air pressure is measured in the unit of ......... .
(1) Milibar
(2) Milimeter
(3) Mililiter
(4) Miligram
70. Select the correct option,

The shape of the sun disc at the time of Annular solar eclipse.

(A) (B) © (D)
(1) A (2) B
3)C 4 D
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71.

72.

73.

74.

Y g et #t et ue fode W g afaes s 9¥ 6T o7 & feaAr sitedt |atres
gar g 2

(1) 8
(2) 4
(3) 2
(4) 1

S TRt TSt & &1 0T AT 3AH FATIe T & UH S, g OIS % S o7 a9 39 e
T UH WA S & FAEEH g, df I S et SHCr F ER FaiEH a2 ¥ |

(1) ® - 9 - &

(2) ot -

(3) ®t - B - 9

(49w - =0 -9

Tt T F w0l T s 9 WAL &, af IH A BT L4A%A O AHL H adreTt |
(1) 144

(2) 72

(3) 96

(4) 120

(3a + 2b)’ — (3a — 2b)’ = fokamr 2
(1) 54a’b +16b°

(2) 108a’b + 16b°

(3) 108a’b —16b°

(4) 54ab> —16b°
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71. When two parallel lines are intersected by a transversal then how many pairs of Corre-

sponding angles are congruent.
(1) 8
2) 4
(3) 2
4 1
72. When two angles of a triangle and a side not included by them are congruent with

corresponding angles and a corresponding side not included by them of another triangle

then the triangles are congruent by following list.
(HhA-S-A
(2) hypotenus — side
B3)A-A-S
4HS-A-S
73. Find the area of a square with diagonal is 12 cm.
(1) 144
(2) 72
(3) 96

(4) 120

74. (3a+2b)’—(3a-2b)’=?
(1) 54a’b +16b°
(2) 108a’b +16b’
(3) 108a°b - 16b’

(4) 54ab* —16b°
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75.

76.

77.

78.

79.

1
%wqﬁﬁwﬁwwﬁwﬁﬁwmﬂwaﬁ?mﬁ?

(1) 0.1314

(2) 0.1321
(3) 013

4) 0.1317

s x=2" @0 y=27 W x+y= fHaw ¢
li 2é
(1) 5 @) 5

1 1
3) 1 4) 5

19683 & W& T TAHA FawR |

(1) 23 (2) 33

(3) 17 4) 27

el qETPR 3T &1 fode 554400 @F #Y. 2, a7 3 ITAE H IR FG@ B¢
(1) 2640 . (2) 2200 .

(3) 1800 . (4) 3080 .

‘O’ Fzare g9 I rour 13 I 2 U7 59 99 6 U a1 99 b B ¥ 5 T 7B g¥ WA,
v 3T Srar 6 durg FarsT |

(1) 12 .
(2) 10 3.
(3) 20 .
(4) 24 @,
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13

75. Which of the following will be decimal form of rational no. 99"

(1) 0.1314

(2) 0.1321
(3) 013

4) 0.1317

76. If x=2"and y=27 then x +y=?
M @) 5

G 4 5
77. Cube root of 19683 is = ?

(1) 23 (2) 33

(3) 17 (4) 27

78. Area of a circular garden is 554400 m?. Then circumference of the garden will

be = ?
(1) 2640 m (2) 2200 m
(3) 1800 m (4) 3080 m

79. Radius of a circle with centre ‘O’ is 13 cm. A chord is at a distance of 5 cm from centre.
Then length of the chord is = ?

(1) 12 cm.
(2) 10 cm.
(3) 20 cm.

(4) 24 cm.
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80.

81.

82.

83.

84.

AT % U AT WE 2, SEEH AT W gHT b I 2 | g & A #OIET TBH gER
F O 2, qig o=t At &7 3fwd 5. 1680 ©. &, dr el & U ThaAr WEH e 9

(1) 240 =. (2) 720 =.
(3) 480 =. (4) 1440 =.

fepelY SeTTBR It BT TR = 1.4 #. &, 39 0 & 1540 e qroft W S §bar 2, at 39
B B TETS TG B |

(1) 0.7 =t. (2) 1 .
(3) 0.8 . (4) 2 .

1
10 7. or. w. 9. &6 ¥ & 100000 5. THA FT THRE AT 25 9 H fopaAT v B 9

(1) 26050 .
(2) 26000 .
(3) 25000 .

(4) 27050 =.

fepelt e faaeor @t & Y fiXi=24240 @or N =40 @ X (srex) = fpaen 2
(1) 66 (2) 660

(3) 662 (4) 606
(x> —4x> + 6x = 3) + (x — 1) = Fbar 2

(1) x> =3x+3

(2) x* —4x+3

(3) x> +3x-3

4) x* + 4x -3
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80. Sunil have double the amount of Rs. than Anil while Sudhir have double the amount of
Rs. than Sunil. If average (mean) of the amounts they have is Rs. 1680 then what will

be the amount of Rs. Anil have ?
(1) 240 Rs. (2) 720 Rs.
(3) 480 Rs. (4) 1440 Rs.

81. The inner diametre of a cylinderical tank is 1.4 m. and it contains 1540 lit. of water then
depth of the tank will be = ?

(1) 0.7 m. @) 1 m.
(3) 0.8 m. (4) 2 m.

1
82. What will be compound interest on principal of Rs. 100000 deposited for 25 years at

the rate of 10% ?
(1) 26050 Rs.
(2) 26000 Rs.
(3) 25000 Res.

(4) 27050 Rs.

83. In a frequency dist. table Y fiXi=24240 and N =40 then mean X = ?
(1) 66 (2) 660
(3) 662 (4) 606

84. (X —4x’+6x-3)+(x—1)=?
(1) x> =3x+3
(2) x> —4x+3
(3) x> +3x-3

4) x> +4x -3
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85. Tt 3ifhd Hw W 13% Be 3T &g axq 1392 5. # UH ITHFESRA IeF H a4t, T 30 I
T AT T AW B

(1) 1400 .
(2) 1500 .
(3) 1550 =.

(4) 1600 .

86. Trul TR @ URMAAr 40 TEF. 2, AT 39 IqHS F TF faeor 5 d@g 16 I &, at s
THEAGHST BT GTha aartt |

(1) 192 =t @,
(2) 160 =t e,
(3) 96 =it Wi,
(4) 36 wt W,

87. 3emw Hig w1 20 foF # Q0 Fwar ¢ | AT q& F 30 f57 # 9@ war §, A I e 98
FE A foAt # ol st 9

(1) 12 () 10
(3) 15 4) 16

88. e 3mwfa # PQRS @7 ts smad £ | [ (PS) =1 (QR) = 7 ¥, C &5 aret 31esdq mad H
JAfANTT g | eredgw f6 BRuT 7 @9 ®, a7 SEihd WHT &1 §F%d AT B |

(1) 77 @t &, (2) 31 @ @,

(3) 25 @t A, (4) 21 @ @,
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85. A shopkeeper sells an article to a customer at Rs. 1392. He gives 13% discount on printed

price. Then printed Price will be = ?

(1) 1400 Rs.

(2) 1500 Rs.

(3) 1550 Rs.

(4) 1600 Rs.

86. Find the area of a rhombus having perimetre 40 cm. and diagonal 16 cm.

(1) 192 cm?

(2) 160 cm?

(3) 96 cm?

(4) 36 cm?

87. Ashok completes the work in 20 days. While Amit completes same work in 30 days. If

they work together how many days are required to complete the work ?
(1) 12 (2) 10
(3) 15 (4) 16

88. Adjecent diagram is Rectangle PQRS where / (PS) =/ (QR) = 7 cm. A semicircle with
centre ‘C’ is drawn as shown. Radius of semi circle is 7 cm. then area of the marked

portion will be = ?

(1) 77 cm? (2) 31 cm’

(3) 25 cm? 4) 21 cm?
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X =7x+10  x*—x-20

89. X +x-6 Tx2+7x+12:ﬁmm?
(1) (x+4) (x=3) 2) (x+3)
1
(3) 1 @ G+ -2

90. TFEt FAHIOT Frfel & FABOT T A YT 8 FAL JAT 15 I &, A W THBOT TS F
g % freur @ & |

(1) 7.5 2. (2) 8.5 A+

(3) 6.5 & (4) 5.5 @
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X =7x+10 x> —x-20 _

8. X +x—-6 Tx2+7x+12_ ?
(D) (x+4)(x-5) (2) (x+3)
1
(3) 1 @ G rax-2

90. In a right angle triangle sides forming right angle are 8 cm. and 15 cm. Find radius of
a circumcircle drawn in the triangle.

(1) 7.5 cm. (2) 8.5 cm.

(3) 6.5 cm. (4) 5.5 cm.
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